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1. 3HH 2, 12, 36, 80, 150, X ¥ X BT ATH T 1.

87

(a) 248
b) 259
(c) 258
(d) 262
UPSC (Pre.) 2022

What is the value of X in the sequence 2,12,
36,80,150, X ?

]9 36 30,159

(a) 248
AB) 252 (|0 44— 70
(c) 258
(d) 262
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2. 3 H 20, 10, 10, 15,30, 75, X H X BT HH 2. What is the value of X in the sequence 20, 10,

T2 10, 15, 30, 75, X? 2 | O
SO P
ox | =~ |O
(a) 105 (@) 105 * Jo xS = 4] §-§5
(b) 120 Y1y - WHEEE R
(c) 150 (©150 Sox < = 7&74
\%25 (d) 225 e AT aa\g
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5. 3N 2, 7, 22, 67, 202, X, 1822 H 'X' BT 5. What is the value of ‘X' in the sequence 2, 7,
T 182 22, 67, 202, X, 18222
e )~ T

7;(% g)H-CD’”QQ

(a) 603 éO.TX% ~ \83 ‘ —‘_@ (@) 603 JAKX3= *‘%"27
/(bsos =7 22 (b)605 0 7%>7 ‘QO - °2
46 607 (© 607 o9x3- L0 6 *@2(907

(d) 608 (d) 608
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